W2 = 28 days Go go!

8 (a) I think of a number, multiply i1t by 3 and then add 1
The answer 1s 28

What was the number?

Answer

(b) I think of a number, subtract 1 from it and then divide by 4
The answer 1s 3

What was the number?

Answer




21 A garden has a flowerbed in the corner.

A diagram of the garden is shown below.

4 8m

Flowerbed

Grass area

(a) Calculate the area of the flowerbed.

Answer

(b) There 1s a fence along the line AB separating the flowerbed from the
grass area.

How long 1s the fence?

Answer
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